	Criteria
	China
	Nigeria

	Total population
	1329Million
	148Million

	GDP: Per Capita
	$7660
	$1166

	Life expectancy at Birth
	72
	46.6

	Population Living Below 

$1 a day.
	9.9%
	70.8%

	Unemployment Total
	4.2%
	N/A

	Net Enrolment Ratio:

Primary Education 
	99.1%
	65.0%

	HDI
	0.8
	0.4


	MDG
	China
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Nigeria 

	Eradicate Poverty and hunger 
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	Achieve Universal Primary Education 
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	Promote Gender Equality and Empower Women
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	Reduce Child Mortality
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	Improve Maternal Health
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	Combat HIV/AIDS Malaria and Other Diseases
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	Ensure Environmental Stability 
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	Develop Global Partnership for Development
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Reasons For Challenges and Achievements for the Goals. (China)

· Remarkable social and economic success

· Government has made development its first priority 

· China has improved overall primary education

· Received FDI from TNC’s 

· China has capital to re-invest in the country-

Eg. South-North Water Diversion Project. 

Reasons For Challenges and Achievements for the Goals. (Nigeria)

· Following the debt relief extended to Nigeria in 2005, a Virtual Poverty Fund was established to ensure that monies released from the debt relief would be channeled towards initiatives to reduce poverty.
· The governance of Nigeria is corrupt meaning that wealth is “lost” and not reinvested back into the country. 
· Uneven distribution in wealth means that there’s a lack of trickle down to stimulate the economy. 
· Inadequate infrastructure means that there is a lack of FDI
· The lack of transport links and electricity means that there is a restriction on the countries ability to develop 
· Subsistence farming means that there not enough Goods to export.   
